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101|R#A7 L 57 18 39| Kg |EE 2,376 648| /& 4,320 540
102|357 L 2,378 1| 2377 Keg |EE 1,404 S - BiE 3,305 464
111|&EEF £ 395 395| Kg ®E - B 1,890 393
113|RAV S 169 126 43| Keg |EE 1,404 605| 3,240 605
114|B5EFE 191 191| Kg BIE - BE 2,808 1,008
15[ 1= 5 5 Ke |EE 2,808 1,404
117[1E 21 9 12| Kg |EE 324 162| L 3,622 647
121|rblE &€ 264 138 126| Kg |EE 1,620 216|7®E 1,836 864
134[#= = 375 225 150 Kg |£E - =H 2,916 1,600| & 3,456 1,944
137|&5E.3. < 719 572 147| Kg |BER 4,752 540|BHR 6,508 3,996
138|FmE = 38 38| Kg =5 3,780 2,808
140(5 I 22 22| Kg imE 56,160 18,000
147|EZ O 147 20 127| Kg |ERES 6,264 5,400( LA - i@ 7,560 3,500
158|&TENAIEH 418 418| Kg =40 1,998 1,404
201|{Lb L 578 578| Kg sl 1,157 144
203|/Né L 135 135| Kg =5 324 238
205|5u8 L 339 339| Kg RI5 486 378
206| 1 815 815| Kg imE 1,080 324
208| Mo % 287 287| Kg KI5 3,780 702
210{1F AL 302 A4 258| Kg |EI& 7,290 2,430[ 1L 2,336 2,322
212|&5E.3 Y 1,218 1218 Kg E - BiE 2,938 1,250
251|< £ <3 354 354 Kg FiE 7,344 3,563
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252|LWAEXECA 105 105 Kg |##FE 3,780

254|EDT2ELCAH 729 31 698| Kg |=#A 1,696 ANER L 2,268 1,253
303[A 27z 4 41 Kg R 953
305|xAah>0b 27 27 Kg i 6,804

315|7: B9 6 44 441 Kg = I 2,592 2,484
319|h o 252 188 64| Kg [|RIF 864 378 1,782 945
332|113 WA =EF 327 327 Kg Bl = 2,052 1,944
351(4EH 20 5 15| Kg |=# 7,668 FE 4,968 4,644
35411FxE<Y 169 10 159 Kg |= 1,080 FIE 1,944 540
355(mp Y 105 10 95| Kg [FE 432 A - BE 1,620 600
356(L L& 75 75 Kg SER 1,512 972
357|782 101 101] Kg BE 2,160 1,080
358|KE 35 35 Kg FAN 2,376 1,620
362|Hh & 419 2 417 Kg |5 1,620 FJE 3,240 432
4025 E 15 15| Kg FAN 5,400 4,320
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A—uhh 10 10| Kg 2P 702
AN 100 100] Kg i 1,300

AERAT AT 270 270 Kg 2P 4,320 1,427
ARTEZL 10 10| Kg E2p] 1,620

JE WA AE 10 10| Kg Bl = 750

iy} 100 100 Kg i 1,026 756
Jarys: e 826 826| Kg 2P 7,100 900
B 361 361 Kg JbF 9,180 900
BRI 50 50[ Kg Bl = 1,150
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70110 BA 321 239 82| Kg |EE 4,148 3,456|F@ A 2,322 1,296
705|7=2< ¥ 12 12 Kg REB 8,640 1,080
710(2 2 AT 97 971 Kg Ko 702 522
BlEFAI L 75 751 Kg SR 1,380 608
755|FH&» C 143 143| Kg 3 972 679
7611 b BHAEL 6 6] Kg EE 2,700
763| Z AMC 36 20 16| Kg |EE 5,435 5,184 | K& 6,600
76713725 WD 6 6 Kg EE 1,188
801 [3BATL = 1S 190 190 Kg FE-mA 1,728 900
802|111 10 10 Kg blo ] 1,350
805 = 1E 317 3171 Kg bF 783 518
80718 H D F 9 9] Kg JbiF 7,236
810|FAKF 71 71 Kg = 2,916 2,376
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